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Formula Sheet

Area of trapezium = 1–
2 (a + b)h

Volume of prism = area of cross section × length

a

h

b

cross
section

length
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1	 When Katie was in hospital her temperature was recorded each day.
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Katie’s daily temperature

	 (a)	 On which day was Katie’s temperature 40°C?

Answer ___________________ [1]

	 (b)	 By how many degrees did Katie’s temperature rise between Sunday  
and Wednesday?

Answer  ____________ °C [1]

	 (c)	 Katie went home on Saturday when her temperature reached normal  
body temperature. 
 
What temperature is this?

Answer  ____________ °C [1]
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2	 The chart shows the population of Belfast for some years.

YearPopulation

362082

314270

279237

277391

286000

1971

1981

1991

2001

2011

	 (a)	 Which year on the chart has the lowest population?

Answer ____________ [1]

	 (b)	 By how much has the population fallen between 1971 and 2011?

Answer ____________ [1]

	 (c)	 How many people are represented by this symbol?

Answer ___________________ people [1]
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3	 (a)	 Kevin is at the airport in the morning.

		  His watch is 7 minutes fast.

		  What is the correct time?

12

10

3

1
2

4
567

8

9

11

Answer ____________ [2]

	 (b)	 Kevin’s suitcase weighs 15.6 kg.

		  The maximum weight allowed is 20 kg.

		  How much less than the maximum weight allowed does Kevin’s suitcase weigh?

Answer ____________ kg [1]

	 (c)	 The plane holds 97 530 litres of fuel.

		  Round 97 530 to the nearest thousand litres.

Answer ____________ litres [1]
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	 (d)	 Kevin buys a coffee on the plane.

	 	 Estimate the capacity of the coffee cup.

	 	 Circle the correct answer.

	 	 40 ml    3 litres    950 g    340 ml    2 kg	 [1]

4	 Which two of these are nets of cubes?

A B C

D E F

Answer ______ , ______ [2]
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5 Rex Cinema
Ticket Prices

Adult £7.15

Senior £5.00

Student £5.50

Child £4.75

	 (a)	 Kim buys one adult and two child tickets.

		  Work out the total cost.

Answer £ ____________ [2]

	 (b)	 The film starts at 6.40 p.m.

		  It lasts 95 minutes.

		  What time does the film end?

Answer ____________ [2]
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6	 Tony is a delivery driver.

	 He uses the formula below to work out the delivery cost.

	 Delivery cost = number of miles × rate per mile + fixed charge

	 The fixed charge is £2.25

	 The rate per mile is £0.60

	 How much does it cost to deliver a package 12 miles away?

Answer £ ____________ [2]
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7	 Paul is checking his gas bill.

	 On January 1st the meter reading was 1880 units.

	 On April 1st the meter reading was 2305 units.

	 Gas costs 16p per unit used.

	 (a)	 Calculate the cost of gas used from 1st January to 1st April.

Answer £ ____________ [4]

	 (b)	 Cooking makes up 10% of Paul’s gas use.

		  What is 10% of the cost of his gas bill?

Answer £ ____________ [2]
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8	 (a)	 Four fifths of 2900 bus journeys left on time.

		  How many journeys left on time?

Answer ____________ journeys [2]

	 (b)	 Which fraction, 34 or 23, is larger?

		  The grids can be used to explain your answer.

	 	 Answer __________ is larger because ____________________________________

	 	 ________________________________________________________________ [2]

	 (c)	 Sara says 34 + 23 = 57

		  Tanya says 34 + 23 = 17
24

		  Una says 34 + 23 = 17
12

		  Which girl is correct?

Answer ____________ [1]
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9	 Tickets for a show are priced as shown:

Adult  £14        Senior Citizen  £8        Child  £5

	 Mrs Evans spent £57 on 6 tickets.

	 She bought 1 Child ticket.

	 How many Adult and Senior Citizen tickets did she buy?

Answer          Adult __________ [3]

Senior Citizen __________ [3]

10	 Insert  <  or  >   or  =   in the boxes to make each statement correct.

1
5 25%

0.3 3% [2]
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11	 A driving instructor recorded the number of males and females who passed their 
driving test.

14

12

10

8

6
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0
Week 1 Week 2 Week 3 Week 4

Males
Females

Number
who
passed

	 (a)	 How many more males than females passed their driving test in Week 2?

Answer ____________ [1]

	 (b)	 The driving instructor says “Those who pass their test are more likely to be 
female than male.”

	 	 Does the data in the bar chart support this statement?

	 	 Give a reason for your answer.

		  Answer __________ because_ __________________________________________

______________________________________________________________________

___________________________________________________________________  [2]
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12	 Each soap dispenser in a restaurant is in the shape of a cuboid.

	 The measurements are shown in the diagram below.

21 cm

8 cm
12.5 cm

LIQUID
SOAP

	 (a)	 Work out the volume of the soap dispenser.

		  State the units of your answer.

Answer _________________________ [3]

	 (b)	 The manager of the restaurant buys 15 litres of liquid soap.

		  How many soap dispensers will he be able to fill?

Answer ____________ [2]
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13	 (a)	 Simplify	 2c + 5e + 8c − 2e

Answer ________________________ [2]

	 (b)	 Solve	 w + 13 = 27

Answer w = __________ [1]

	 (c)	 Solve	 m
3  = 15

Answer m = __________ [1]

	 (d)	 Given that	 t = 4  and  r = 7

		  find the value of	 5t − 2r

Answer __________ [2]



[Turn over

*32GMC1115*

*32GMC1115*

11932

14	 Jim, who runs a gardening business, cuts the grass on lawns.

	 The measurements of one lawn are shown in the diagram below.

LAWN

8 m

4 m

	 Jim charges £2 per square metre for cutting grass.

	 How much does he charge to cut the grass on the lawn?

Answer £ __________ [2]
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15	 Gary asked some people how many times they went to the cinema last month.

Number of times Number of people

Less than 3 0

3 5

4 11

5 8

6 6

More than 6 0

	 (a)	 How many people did he ask?
Answer __________ [1]

	 (b)	 Draw a fully labelled pie chart to show the information in the table.

[4]
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	 (c)	 What was the modal number of times for these people?

Answer __________ [1]

	 (d)	 How many times did these people go in total?

Answer __________ [2]



*32GMC1118*

*32GMC1118*

11932

16	 Steven wants to get a T-shirt printed for each member of his running club.

	 The printer charges a fee of £25 to set up the machine.

	 He then charges £1.20 per T-shirt for the printing.

	 The total bill from the printer was £67

	 How many people are in the running club?

Answer __________ [3]
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17	 Jenny opens a “Charity Bank Account”. Any interest gained goes to a local charity.

	 It pays 2% per annum simple interest.

	 She puts £1500 into the account.

	 She does not make any deposits or withdrawals.

	 How much interest will the charity have received after 3 years?

Answer £__________ [3]
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18	 (a)	 Work out the size of the angle x in the diagram below.

52°

130°110°

x

Answer ____________° [3]
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	 (b)	 Work out the size of the angle y in the diagram below.

y

32°

Answer ____________° [2]
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19	 Peter buys mince and potatoes.

	 Mince costs £6 per kg.

	 Peter buys 3.2 kg of mince and 1.8 kg of potatoes.

	 The total cost is £20.46

	 How much does it cost for 1kg of potatoes?

Answer __________ p [4]
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20	 Holly did three exams.

	 Her results were:

		  Geography	 28 out of 40

		  Music	 16 out of 25

		  English	 34 out of 50

	 Her Mum says “English was your best subject.”

	 Is her Mum right?

	 You must show your working and explain your answer.

	 Answer __________ because _ _____________________________________________

	 ____________________________________________________________________  [3]
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21	 The price of a sofa was £880

	 It is reduced by 35%.

	 Joanna says “The sofa now costs only £570”

	 Is she correct? Explain your answer.

[3]
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22	 Draw the graph of  y = 2x − 4  on the grid below.

y

x

–1

–2

–3

–4

–5

5

4

3

2

1

6

1 2 3 4 50

[3]
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23	 Seven rugby matches were watched to see how many errors the referee made.

	 The number of years experience for each referee is also shown.

Referee A B C D E F G

Number of years experience 3 1 5 2 6 5 3

Number of errors made 10 13 4 9 2 3 7
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	 (a)	 Plot this information on the scatter graph below.

		  The first two points have been done for you.

2

4

6

8

10

12

14

0

Number
of

errors

1 2 3 4 5 6
Number of years experience

×

×

[2]

	 (b)	 Complete the following sentence.

		  The graph suggests that the more experience a referee has, the 
 
_____________ errors will be made.	 [1]
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24	 Alice has five cards each with a number on them. Three of the numbers are shown.

3 8 5

	 The mode of the five numbers on the cards is 5

	 The mean of the five numbers on the cards is 6

	 Work out the range of the five numbers on the cards.

	 You must show your working.

Answer __________ [4]
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25	 The number of absences in a month for workers was recorded.

Number of absences Frequency

0 10

1 8

2 6

3 5

4 1

	 Calculate the mean number of absences.

Answer __________ [3]
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26	 In Year 11 there are 200 students.
	 Students can choose to study French, German, both languages or no language.

	 95 students study French.
	 75 students study German.
	 35 students study both languages.

	 By completing the Venn diagram below, calculate how many students in Year 11 study 
no languages.

French German

Answer __________ [4]
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27

diagram
not drawn
accurately

T VU

P RQ

S

x

70°

130°

	 PR and TV are parallel lines.

	 Calculate the size of angle x.

Answer __________° [3]

THIS IS THE END OF THE QUESTION PAPER
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